

NOTICE OF AWARD

January 15, 2025

GOLDQUEST BIOTECHNOLOGIES, INC.

414 San Fernando St. Binondo, Manila Tel No.: 7940-8180/ 095616623334 Email: karen_villanueva21@yahoo.com

Sir / Madam:

Please be advised that based on the results of the PUBLIC BIDDING conducted by the National Center for Mental Health for the SUPPLY AND DELIVERY OF LABORATORY (CLINICAL) SUPPLIES AND REAGENTS CY 2025 (EARLY PROCUREMENT ACTIVITY), the following items are hereby awarded to your company:

ITEM NO.	ITEM CODE	QTY	UNIT	ITEM/SPECIFICATIONS	UNIT PRICE	TOTAL PRICE
Items no	. 93-130 u	nder LO	T BIDDIN	G: MICROBIOLOGY- Antibiotic	Discs	
93	CLI- 014	3	cartridge	Amikacin, 50/cartridge, with at least 1 year expiry Brand: BIOANALYSE Origin: Turkey	240.00	720.00
94		20	cartridge	Amoxicillin/Clavulanic Acid, 50/cartridge, with at least 1 year expiry Brand: BIOANALYSE Origin: Turkey	240.00	4,800.00
95		3	cartridge	Ampicillin, 50/cartridge, with at least 1 year expiry Brand: BIOANALYSE Origin: Turkey	240.00	720.00
96		3	cartridge	Azithromycin, 50/cartridge, with at least 1 year expiry Brand: BIOANALYSE Origin: Turkey	240.00	720.00
97		20	cartridge	Aztreonam, 50/cartridge, with at least 1 year expiry Brand: BIOANALYSE Origin: Turkey	240.00	4,800.00
98		20	cartridge	Cefazolin, 50/cartridge, with at least 1 year expiry Brand: BIOANALYSE Origin: Turkey	240.00	4,800.00

"There is no Health without Mental Health"



Trunkline: 8531-9001 Website: www.ncmh.gov.pH







	The second					
99		20	cartridge	Cefipime, 50/cartridge, with at least 1 year expiry Brand: BIOANALYSE	240.00	4,800.00 \
100		3	cartridge	Origin: Turkey Cefixime, 50/cartridge, with at least 1 year expiry Brand: BIOANALYSE Origin: Turkey	240.00	720.00
101		20	cartridge	Cefotaxime, 50/cartridge, with at least 1 year expiry	240.00	4,800.00
				Brand: BIOANALYSE Origin: Turkey		
102		20	cartridge	Cefoxitin, 50/cartridge, with at least 1 year expiry Brand: BIOANALYSE Origin: Turkey	240.00	4,800.00 ~
103		5	cartridge	Ceftazidime, 50/cartridge, with at least 1 year expiry Brand: BIOANALYSE Origin: Turkey	240.00	1,200.00
104		2	cartridge	Ceftriaxone, 50/cartridge, with at least 1 year expiry Brand: BIOANALYSE Origin: Turkey	240.00	480.00
105		2	cartridge	Cefuroxime, 50/cartridge, with at least 1 year expiry Brand: BIOANALYSE Origin: Turkey	240.00	480.00
106		3	cartridge	Ciprofloxacin, 50/cartridge, with at least 1 year expiry Brand: BIOANALYSE Origin: Turkey	240.00	720.00
107		3	cartridge	Clarithromycin, 50/cartridge, with at least 1 year expiry Brand: BIOANALYSE Origin: Turkey	240.00	720.00
108		5	cartridge	Erythromycin, 50/cartridge, with at least 1 year expiry Brand: BIOANALYSE Origin: Turkey	240.00	1,200.00
109		5	cartridge	Ertapenem, 50/cartridge, with at least 1 year expiry Brand: BIOANALYSE Origin: Turkey	385.00	1,925.00 、
110		5	cartridge	Gentamicin, 50/cartridge, with at least 1 year expiry Brand: BIOANALYSE Origin: Turkey	240.00	1,200.00 \
111		20	cartridge	Imipinem, 50/cartridge, with at least 1 year expiry Brand: BIOANALYSE Origin: Turkey	240.00	4,800.00
112		12	cartridge	Levofloxacin, 50/cartridge, with at least 1 year expiry Brand: BIOANALYSE Origin: Turkey	240.00	2,880.00 -
113		5	cartridge	Linezolid, 50/cartridge, with at least 1 year expiry Brand: BIOANALYSE Origin: Turkey	240.00	1,200.00~

						the second second	the same and the s
					Meropenem, 50/cartridge,		
1	14		20	cartridge	with at least 1 year expiry	240.00	4,800.00
			20	Curtinage	Brand: BIOANALYSE	240.00	4,000.00
					Origin: Turkey		
					Nitrofurantoin, 50/cartridge,		
1	15		20	cartridge	with at least 1 year expiry	240.00	4,800.00
	.10		. 20	Cararage	Brand: BIOANALYSE	240.00	4,800.00
Τ.					Origin: Turkey		
		1			Novobiocin, 50/cartridge,		
1	16		3	cartridge	with at least 1 year expiry	240.00	720.00 ~
1	10		,	cartifuge	Brand: BIOANALYSE	240.00	/20.00 \
1					Origin: Turkey		
					Oxacillin, 50/cartridge,		
١.,	17		5	cartridge	with at least 1 year expiry	240.00	1 000 00
'	17		ر	carriage	Brand: BIOANALYSE	240.00	1,200.00
					Origin: Turkey		
		1			Penicillin, 50/cartridge,		
·	10	1. 1. 4. 4. 4	, , , , , , , , , , , , , , , , , , ,	a a la farta a	with at least 1 year expiry	040.00	1 200 00
1 1	18	4.44	5	cartridge	Brand: BIOANALYSE	240.00	1,200.00 -
					Origin: Turkey	Part of the second	
		1			Piperacillin, 50/cartridge,		44
	10	1	,		with at least 1 year expiry	040.00	720.00
1	19		3	cartridge	Brand: BIOANALYSE	240.00	720.00
					Origin: Turkey		
		1			Piperacillin/Tazobactam,		
	1.5				50/cartridge,		
1	20		3	cartridge	with at least 1 year expiry	240.00	720.00
					Brand: BIOANALYSE		
1 .	. 1				Origin: Turkey		
	·	1		1	Rifampin, 50/cartridge,		
	4.				with at least 1 year expiry		
1	21		5	cartridge	Brand: BIOANALYSE	240.00	1,200.00
					Origin: Turkey		
			······································		Sulbactam + Ampicillin,		· · · · · · · · · · · · · · · · · · ·
١.	·.		40		50/cartridge with 1 year expiry		
1	22		20	cartridge	Brand: BIOANALYSE	240.00	4,800.00
· .			$c_{1}=c_{1}^{-1}c_{2}^{-1}$		Origin: Turkey		
					Tetracyclin, 50/cartridge,		
	ለኋ		00		with at least I year expiry	ALABA	2 000 00
!	23		20	cartridge	Brand: BIOANALYSE	240.00	4,800.00
			$\{(1,1)^{n+1}\}$		Origin: Turkey		
			·····	<u> </u>	Tobramycin, 50/cartridge,		
			40		with at least 1 year expiry		4000.00
1	24		20	cartridge	Brand: BIOANALYSE	240.00	4,800.00
			* * - *		Origin: Turkey		
					Vancomycin, 50/cartridge,		
	0.5				with at least 1 year expiry	***	
1.	25		5	cartridge	Brand: BIOANALYSE	240.00	1,200.00
	1 ×				Origin: Turkey		
-					Taxo A (Bacitracin).		
					50/cartridge,		The second secon
1	26		2	cartridge	with at least 1 year expiry	510.00	1,020.00
	-				Brand: BIOANALYSE	5.0.00	1,020.00
					Origin: Turkey		
					Taxo P (Optochin), 50/cartridge,		
	<u> </u>				with at least 1 year expiry		
1	27		2	cartridge	Brand: BIOANALYSE	510.00	1,020.00 \
					Origin: Turkey		
			· · · · · ·		Taxo V, 50/cartridge		
		F			rano v, soveminigo		e ja a e e e
			4.4 ()				
1.	28		2	cartridge	with at least 1 year expiry Brand: BIOANAL VSE	1,000.00	2,000.00 \$
1:	28		2	cartridge	Brand: BIOANALYSE Origin: Turkey	1,000.00	2,000.00 \$

			TO	TAL AMOUNT	₱ 87,485.00 、
130	2	cartridge	Taxo XV, 50/cartridge, with at least 1 year expiry Brand: BIOANALYSE Origin: Turkey	1,000.00	2,000.00
129	2	cartridge	Taxo X, 50/cartridge, with at least 1 year expiry Brand: BIOANALYSE Origin: Turkey	1,000.00	2,000.00

You are hereby required to submit the following within ten (10) calendar days:

Notarized Contract Agreement Form (Legal Size) for the PUBLIC BIDDING FOR THE SUPPLY AND DELIVERY OF LABORATORY (CLINICAL) SUPPLIES AND REAGENTS CY 2025 (EARLY PROCUREMENT ACTIVITY)

NOTE: The signatory shall be NOEL V. REYES, MD, FPPA, MMHoA, MEDICAL CENTER CHIEF II; and

Performance Security in any forms and amount stipulated below:

A.	Cash or Cashier's / Manager's Check issued by a Universal of Commercial Bank.	
В.	Bank draft/guarantee or irrevocable letter of credit issued by a Universal or Commercial Bank: Provided, however, That it shall be confirmed or authenticated by a Universal or Commercial Bank, if issued by a foreign bank.	Five Percent (5%) of the Total Contract Price
C.	Surety bond callable upon demand issued by a surety or insurance company duly certified by the Insurance Commission as authorized to issue such security.	Thirty Percent (30%) of the Total Contract Price

NOTE: Failure to provide any of the aforementioned requirements within ten (10) calendar days shall constitute sufficient grounds for cancellation of this Award and forfeiture of the Bid Security.

Truly yours,

NOEL V. REYES, MD, FPPA, MMH0A Medical Center Chief II

CONFORME:

Authorized Representative (Name & Signature)

Jan.

Date and Time